Extra Credit Gini Distribution

The Gini question will be extra credit, 4 pts. added to a student's total points scored on quizzes (assume a typical quiz is worth ~10 pts.), due Wednesday Thursday.  It is to come up with an income distribution with 100 individuals that yields a Gini of 43, plus or minus 1.  The sum of your n =100 array must equal 100.  If this helps you at all, the United States has a income Gini of 43.  If you Google "income distribution United States" you will be able to find some quintiles or even deciles of income in the past decade to give you a rough guide.  Obviously using Excel is helpful.  The finished product to turn in will be a spreadsheet with all 100 data points, together with all the columns of calculations.  A completed Lorenz curve is worth an additional point.  Each student must have a distribution somewhat unique from that of the other students.

